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Nome: Data: Punteggio:

707 786 743 535 933
—666 —322 —4071 -504 —-896
777 271 878 418 687
—-250 —257 —665 -184 -160
616 516 735 763 709
—-462 -516 -469 —202 —386
988 757 909 343 487
—-/09 -216 —-397 631 —-294
719 774 753 400 /88

—545 —349 —667 -179 -279
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Sottrazione a 3 cifre

Nome:

7071
—666
35

777
—-250
527

616
-462
154

988
—-/09
279

719
—545
174

786
—322
464

271
—-257
14

516
-516
0

/51
-216
535

774
—349
425

743
—4071
342

878
—665
213

735
-469
266

909
—397
512

753
667/
86

Data:

www.snowmath.com

535
—-504
31

418
-184
234

763
—202
561

343
631
162

400
-179
221

Punteggio:

933
—396
37

687
-160
527

709
—336
323

487
—-294
193

/88
-279
509
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